Human Geography

Chapter 2, Rubenstein
A. Population

1. Population of earth ( 6 billion

a. Population growth rate ( 250,000 people/day

b. China is most populous country ( 1.3 billion

c. India is next with ( 1 billion

d. Bangladesh ( 126,470,000

e. USA ( 270,130,000

f. 3/4ths of world’s population lives on 5% or earth’s surface! Why?

1). too dry? (20% is arid)

2). too wet? (soils are leached)

3). too cold?

4). too mountainous?

5). too hazardous?

2. Population Clusters

a. People tend to be clustered in areas where there is water, land suitable for growing crops, natural transportation routes, and plentiful natural resources such as coal (i.e. not too wet, too cold etc.)

b. Example: 99% of Egypt’s population live within 12 miles of the Nile River

c. World’s 5 largest population clusters:

1). East Asia – 1/4th of world’s population in China, Taiwan, Japan, and Korea

2). South Asia – 1/5th of world’s population in India, Pakistan, Bangladesh, and Sri Lanka

3). Europe

4). Southeast Asia – Indonesia, Borneo, New Guinea, and Philippines

5). Eastern North America – Boston to Virginia (DC area) and to Chicago

3. Study of population statistics is called demography
a. Samples of demographic data:

1). China:


a). GDP/capita = $2,895.00

b). literacy rate is 82%

2). India:

a). GDP/capita = $1,491.00

b). literacy rate = 52%

c). growth rate is 76,000 people/day

3). Bangladesh:


a). GDP/capita = $112.00


b). literacy rate = 38%

4). USA:


a). GDP/capita = $27,336.00


b). literacy rate = 97%

b. Demographic studies indicate world population should level off in next 120 years at between 11 and 12 billion

c. Most populated countries predicted to be:

1). India, China, Nigeria, Bangladesh, Pakistan, and Indonesia

2). These countries should have 50% of world’s population

d. Question: Enough resources for 11 billion to live comfortably? (“World as 100 People”)

4. Population Density (more demographic data)
a. Definition is “number of people/ area”

1). Arithmetic density = Total number of people/Total land area e.g.’s:

a). Most densely populated area on earth:  Macau, China = 64,545 people/square mile





b). USA = 72 people/square mile



c). Bangladesh = 2,275 people/square mile

2). Physiological density = “number of people/arable land” (arable – capable of being cultivated)

a). Egypt = 2,167 people/square kilometer of arable land

b). USA = 140 people/square kilometer of arable land

3). Agricultural density = “number of farmers/arable land

a). Bangladesh = 824 farmers/square kilometer of arable land

b). USA = 4 farmers/square kilometer of arable land

5. Ways to measure population

a. Crude Birth Rate (CBR) = “Total number of live births/1000 people”

b. Crude Death Rate (CDR) = “Total number of deaths/1000 people”

c. Rate of Natural Increase or growth rate = 

CBR – CDR

d. Doubling time = Time it takes for population to double. 

e. Total fertility rate (TFR) = “Average number of children a woman between ages of 15 – 49 will have.”

1). Earth as whole = 3

2). Some Sub-Saharan African states = >6

f. Infant mortality rate = “Total number of infant deaths/1000 live births”

6. Demographic Transition Model

a. Explains growth rates in all countries

b. Four stages and all countries in 1 of the 4 stages

c. Progress through the stages is irreversible unless a catastrophe occurs

d. Stage 1 – Pre-industrial - Low growth

1). High CBR and CDR

2). Hunting and gathering societies

3). Population numbers primarily dependent on food

4). No countries remain in this stage

e. Stage 2 - High growth

1). High CBR, low CDR

2). Industrial revolution – increased food production

3). Better sanitation and health

4). E.G.: Cape Verde


a). islands off coast of West Africa


b). moved from Stage 1 to Stage 2 in 1950

c). before 1950, pop. declined due to disease and famine

d). Pop. now increasing largely due to antimalarial campaign

f. Stage 3 – Decreasing growth/Moderate growth

1). CBR and CDR decline

2). People electing to have fewer children

3). E.G.: Chile


a). West coast of South America

b). Been in Stage 3 since 1960

c). Change from largely agricultural to urban society

d). Initiated family planning in 1966

e). Religious practices oppose artificial birth control

g. Stage 4 – Low growth – Zero population growth

1). Women entering work force

2). Smaller families due to birth control

3). More income – more things to do

4). Better health care

5). E.G.: Denmark


a). Western Europe

b). Reached zero population growth in late 1970’s.

h. Summary of Demographic Transition Model:

1). Most countries are still in stages 2 and 3

2). The main reason for the Stage 4 countries is the wealth of the Industrial Revolution leading to monies for medical research

3). Stage 4 countries have been somewhat successful in lowering the CDR in LDCs, but have not been very successful in improving the quality of life.

4). Some countries have high CDR and thus lower growth rates due to famine, disease, drought, etc. 

7. Population Pyramids
a. Method of displaying distribution of a country’s population by age and gender

b.  Base represents the youngest, top the oldest

c. Grouped in 5-year age sections

d. (Overhead of population pyramids)

e. Dependency ratio:


1). Number of people who are too young or old to work


2). Too young = 0 –14 years


3) Too old = 65 and above


4). About 50% of all people in Stage 2 countries are dependents


5). In Stage 4, approximately 1 dependent for every 2 workers

8. Answers to Overpopulation?

a. Sir Thomas Malthus, 1766 – 1834


1). Son of English minister – well-off

2). Population grows exponentially while food production grows arithmetically


3).  Solution?



a). birth control



b). disease, famine, war

b. Neo-Malthusians


1). wars and civil violence will increase over food and other resource shortages


2). Strong advocates of birth control

c. Critics of Malthus include Karl Marx


1). shortages are fault of capitalist government


2). governments should create more jobs


3). have more children to create more workers

d. Undesirable solutions to overpopulation


1). don’t give aid to starving people

 
2). don’t give children in LDCs vaccines

3). help the spread of AIDS by practicing un-safe sex


4). wage more wars

5). encourage people to live in areas where natural disasters often strike


6). better education


7). better birth control


8). continue to improve technology
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